# GEORGIA DEPARTMENT OF TRANSPORTATION LOCAL MAINTENANCE & IMPROVEMENT GRANT (LMIG) APPLICATION FOR FISCAL YEAR 2019

TYPE OR PRINT LEGIBLY. ALL SECTIONS MUST BE COMPLETED.

LOCAL GOVERNMENT INFORMATION
Date of Application:  Name of local government:  Address:  PO Box 46  4484 Marietta Street  Contact Person and Title:  Contact Person's Phone Number:  770.942.8010  Contact Person's Fax Number:  770.943.8014  Contact Person's Email:  yas:cake cityot powdersprings.org
Is the Priority List attached? Local Government Affidavit and Certification
(Name), the
Local government further swears and certifies that it has read and understands the regulations for the Georgia Planning Act of 1989 (O.C.G.A. § 45-12-200, et seq.), Service Delivery Strategy Act (O.C.G.A. § 36-70-20, et seq.), and the Local Government Budgets and Audits Act (O.C.G.A. 36-81-7 et seq.) and will comply in full with said provisions. Local government further swears and certifies that the roads or sections of roads described and shown on the local government further swears and certifies that the roads or sections of system in said county/city. Local government further swears and certifies that it complied with federal and/or state environmental protection laws and at the completion of

Further, the local government shall be responsible for any claim, damage, loss or expense that is attributable to negligent acts, errors, or omissions related to the designs, drawings, specifications, work and other services furnished by or on behalf of the local government pursuant to this Application ("Loss"). To the extent provided by law, the local government further agrees to hold harmless and indemnify the DEPARTMENT and the State of Georgia from all suits or claims that may arise from said Loss.

the project(s), it met the match requirements as stated in the Transportation Investment ACT (TIA).

#### GEORGIA DEPARTMENT OF TRANSPORTATION LOCAL MAINTENANCE & IMPROVEMENT GRANT (LMIG) APPLICATION FOR FISCAL YEAR

#### LOCAL GOVERNMENT AFFIDAVIT AND CERTIFICATION

If the local government fails to comply with these General Guidelines and Rules, or fails to comply with its Application and Certification, or fails to cooperate with the auditor(s) or fails to maintain and retain sufficient records, the DEPARTMENT may, at its discretion, prohibit the local government from participating in the LMIG program in the future and may pursue any available legal remedy to obtain reimbursement of the LMIG funds. Furthermore, if in the estimation of the DEPARTMENT, a roadway or bridge shows evidence of failure(s) due to poor workmanship, the use of substandard materials, or the failure to follow the required design and construction guidelines as set forth herein, the Department may pursue any available legal remedy to obtain reimbursement of the allocated LMIG funds or prohibit local government from participating in the LMIG program until such time as corrections are made to address the deficiencies or reimbursement is made. All projects identified on the Project list shall be constructed in accordance with the Department's Standard Specifications of Transportation Systems (Current Edition), Supplemental Specifications (Current Edition), and Special Provisions.

E-Verify Number

Local Government:

	(Signature)	Sworn to and subscribed before me,
Mayor / Commission Chairperson  LOCAL GOVERNMENT SEAL:	(Print) (Date)	This day of, 20  In the presence of:  NOTARY PUBLIC  My Commission Expires:  NOTARY SEAL:
	FOR GDOT USE ON ion is hereby granted and the ion must be spent on any or all of the	amount allocated to the local government is
This day of		
GDOT Office of Local Grants		

2019 LMIG PROJECT WORK				
	QUANTITY	UNIT	UNIT PRICE	ESTIMATED COST
Recycled Asphalt Concrete Patching includig Bitum. Material and H Lime	404	TON	\$ 170.00	\$ 68,680.00
Recycled Asphalt Concrete 9.5MM Superpave, Tpye II, Blend 1 Including Bitum Material and H Lime	302	TON	\$ 140.00	\$ 42,280.00
Tack Coat	735	GALLON	\$ 10.00	\$ 7,350.00
Adjust Manhole to grade ( encased in concrete)	3	ЕАСН	\$ 1,000.00	\$ 3,000.00
Thermoplastic Solid Traf Stripe 18 inches White	10	LN.FT	\$ 40.00	\$ 400.00
Allow for Taffic Control	1	LUMP SUM	\$ 6,500.00	\$ 6,500.00
SUB-TOTAL				\$ 128,210.00
Piper Court (Blue Heron Pass to Cul-De-SAC at 3801) Resurfacing Estimate 21 Feet x 93 Feet with Cul-De-Sac	QUANTITY	UNIT	UNIT PRICE	ESTIMATED COST
Recycled Asphalt Concrete Patching includig Bitum. Material and H Lime	06	TON	\$ 170.00	\$ 15,300.00
Recycled Asphalt Concrete 9.5MM Superpave, Tpye II, Blend 1 Including Bitum Material and H Lime	89	TON	\$ 140.00	\$ 9,520.00
Tack Coat	162	GALLON	\$ 10.00	\$ 1,620.00
Adjust Manhole to grade ( encased in concrete)	1	ЕАСН	\$ 1,000.00	\$ 1,000.00
Thermoplastic Solid Traf Stripe 18 inches White	10	LN.FT	\$ 40.00	\$ 400.00
Allow for Taffic Control	1	LUMP SUM	\$ 2,500.00	\$ 2,500.00
SUB- TOTAL				\$ 30,340.00
CF				\$ 158,550.00

CITY OF POWDER SPRINGS , GEORGIA  B/F				
COLFET				
Challen Count Majoring Philade Car at 24700				\$ 158,550.00
Resurfacing Estimate 21 feet x 526 feet with cul-de-sac	QUANTITY	UNIT	UNIT PRICE	ESTIMATED COST
Recycled Asphalt Concrete Patching includig Bitum. Material and H Lime 221	221	TON	\$ 170.00	\$ 37,570.00
Recycled Asphalt Concrete 9.5MM Superpave, Tpye II, Blend 1 Including 165 Bitum Material and H Lime	165	TON	\$ 140.00	\$ 23,100.00
Tack Coat 400	400	GALLON	\$ 10.00	\$ 4,000.00
Adjust Manhole to grade ( encased in concrete)	8	EACH	\$ 1,000.00	\$ 3,000.00
Thermoplastic Solid Traf Stripe 18 inches White	10	LN.FT	\$ 40.00	\$ 400.00
Allow for Taffic Control	1	LUMP SUM	\$ 5,000.00	\$ 5,000.00
SUB-TOTAL				\$ 73,070.00
Lindley Road (1d Powder Springs to Dead Eend) Resurfacing Estimate 22 feet x 625 feet	QUANTITY	TIND	UNIT PRICE	ESTIMATED COST
Recycled Asphalt Concrete Patching includig Bitum. Material and H Lime	156	TON	\$ 170.00	\$ 26,520.00
Recycled Asphalt Concrete 9.5MM Superpave, Tpye II, Blend 1 Including  Bitum Material and H Lime	117	TON	\$ 140.00	\$ 16,380.00
Tack Coat	285	GALLON	\$ 10.00	\$ 2,850.00
Adjust Manhole to grade ( encased in concrete)	1	ЕАСН	1,000.00	00.000.1
Thermoplastic Solid Traf Stripe 18 inches White	11	LN.FT	\$ 40.00	\$ 440.00
Allow for Taffic Control	I	LUMP SUM	\$ 5,000.00	\$ 5,000.00
SUB- TOTAL				\$ 52,190.00
GRAND TOTAL				\$ 283,810.00

# FOOTNOTE

<sup>\*</sup> All costs are subject to fair market value and project antipated to becompleted 120 days after the contract letting

<sup>\*\*</sup> Patching shall be 2 inches in depth on all the streets

## City of Powder springs

### 2018 LMIG Project Status Report

Project Name;

2018 LMIG Project Report

Department;

City of Powder Springs Public Works

Focus Area;

Road Resurfacing for Public Works (2018 Local

Maintenance Improvement Grant)

Date;

8/27/2018

#### Project Status Report Data Summary

NO	ITEM	REMARKS	
1	Percent of contract completed	99.00% completed	
2	Total amount invoiced by the contractor as at now	0.00	
3	Contract start date	7/16/2018	
4	Contract Completion date	11/12/2018	

#### City of Powder Springs

#### Project Status Report Data Summary

The purpose of this status report is to comply with Georgia Department of Transportation (GDOT) Reporting requirements for the Local Maintenance improvement Grant (LMIG)

#### 1. Project Status Report

#### 2. Project Listing Completion Status Report Detail

The following list of streets shows the completion status of LMIG Project ass at 8/27/2018

NO	STREET NAME	FROM	то	COMPLETED Yes/No
1	Lookout Trace	Hillside Drive	Cul -de sac	No
2	Lakewood Way	Country Cove Way	Cul -de sac	No
3	Country Cove Way	Shipp Road	Cul -de sac	No

Footnote;

Striping Pending